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NEW QUESTION 1
Refer to the exhibit.

What is configured as a result of running these commands?

A. loose unicast RPF

B. strict unicast RPF

C. IP Source Guard

D. reverse lookup for outbound packets

Answer: B

NEW QUESTION 2
What are two capabilities of the Cisco Network Assurance Engine? (Choose two.)

A. It validates that devices comply with network security policies.
B. It predicts the impact of changes to the network.

C. It predicts the network load on a data center.

D. It ensures that network performance meets an SLA.

E. It verifies the speed of network packet flows by using telemetry.

Answer: AB

NEW QUESTION 3
An engineer is seeking the most optimal on demand CPU performance while configuring the BIOS settings of a UCS C-series rack mount server.
What setting will accomplish this goal?

A. C6 Retention

B. C6 non-Retention
C. C2 state

D. CO/C1 state

Answer: A

NEW QUESTION 4
An engineer must configure Cisco IMC server management NIC for autonegotiation.
Which setting should be selected?

A. shared LOM

B. Cisco card

C. dedicated

D. shared LOM EXT

Answer: C

NEW QUESTION 5
Where is the witness deployed in a two-node Cisco HyperFlex Edge deployment?
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A. to the HyperFlex Edge two-node cluster

B. to Cisco Intersight

C. to a third-party cloud provider

D. to an additional server with network access to HyperFlex Edge

Answer: B

NEW QUESTION 6
Refer to the exhibit.

What is the result of this series of commands?

A. It reboots the server immediately.

B. It activates the firmware on the next adapter boot.

C. It updates the firmware on adapter 1/1/1 immediately.
D. It verifies the firmware update on the server.

Answer: B

NEW QUESTION 7
Which two hypervisors does Cisco HyperFlex support? (Choose two.)

A. OpenStack

B. Citrix XenServer
C. VMware vSphere
D. RedHat KVM

E. Microsoft Hyper-V

Answer: CE

NEW QUESTION 8
An engineer changed a configuration and must perform a rollback.
Which statement applies to a Cisco Nexus 5600 Series Switch?

A. The configuration rollback functionality is disabled when FCoE is enabled.

B. A system checkpoint is generated automatically when the running configuration is saved to NVRAM.
C. A user who is assigned to the network-operator user role can perform a rollback.

D. Errors are skipped when an atomic rollback type is triggered.

Answer: A

NEW QUESTION 9

Which command reduces the amount of time it takes to complete the ISSU on a Cisco Nexus 7000 Series Switch that has dual supervisor modules and two I/O
modules?

A. install all epld bootflash:<image> parallel

B. install all kickstart <image> system <image> parallel

C. install all kickstart <image> system <image>

D. install all epld bootflash: <image>

Answer: B

NEW QUESTION 10
Which two statements about the process at upgrading an EPLD on a Cisco MDS 9000 Series Switch are correct? (Choose two.)
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A. EPLDs can be upgraded only to the latest EPLD image.

B. EPLD upgrades can be completed without powering down the module during the upgrade.
C. An upgrade verification identifies the impact of each EPLD upgrade.

D. The EPLDs for all the modules on a switch must be upgraded at the same time.

E. EPLDs can be upgraded without replacing the hardware.

Answer: CE

NEW QUESTION 10
Refer to the exhibit.

Which action must be taken before the maintenance policy can be committed?

A. Specify a maintenance time by selecting a schedule.
B. Associate a service profile to the maintenance policy.
C. Set the soft shutdown timer to a specific time.

D. Set the policy to apply the changes on the next reboot.

Answer: A

NEW QUESTION 12
An engineer must implement a Cisco UCS system at a customer site. One of the requirements is to implement SAN boot. The storage system maps the source
WWPN to a unigue LUN. Which method does Cisco recommend to configure the SAN boot?

A. Define the vHBAS as bootable and leave the boot target definition empty.

B. Create a SAN boot policy in which every initiator is mapped to a different target LUN.

C. Define the vHBAs as bootable and leave the default values on the boot target definition.
D. Create a SAN boot policy in which every initiator is mapped to the same target LUN.

Answer: D

NEW QUESTION 15
Which statement about the MAC address that the FCoE Initialization Protocol chooses for use by an E-Node in an FCoE implementation is true?

A. The FCoE Initialization Protocol uses a 24-bit FC-MAP and concatenates a 24-bit Fibre Channel ID to create a fabric-provided MAC address.

B. The FCoE Initialization Protocol uses the burned-in MAC address of the converged network adapter for all FCoE operations.

C. FCoE does not use a MAC addres

D. The FCoE Initialization Protocol is used to acquire a Fibre Channel ID, and the address is used for all FCOE communications in the same way as Fibre Channel
Protocol.

E. The FCoE Initialization Protocol uses 01.00.0C as the first 24 bits of the MAC address and appends a 24-bit Fibre Channel ID to derive a full 48- bit FCoE MAC
address.

Answer: AB

NEW QUESTION 16

Which statement about monitoring Fibre Channel traffic on a Cisco UCS 6332 Fabric Interconnect is true?

A. Fibre Channel traffic can be monitored only on one VHBA per server.

B. Fibre Channel traffic can be monitored as it is encapsulated as FCoE.

C. The monitoring of Fibre Channel traffic is limited to the default VSAN.

D. The destination port for monitoring must be an unassigned Fibre Channel port.

Answer: A

NEW QUESTION 17
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An engineer is converting a Cisco MDS switch to support NPIV mode.
What should be considered when implementing the solution?

A. It requires mapping of external interface traffic.
B. It must be enabled on VSAN 1 only.

C. It must be enabled globally on all VSANSs.

D. It requires the FLOGI database to be disabled.

Answer: C

NEW QUESTION 21
Refer to the exhibit.

What is the result of implementing this configuration?

A. The Fibre Channel interface is configured for SPAN.

B. The Fibre Channel interface is configured for source distribution.

C. The Fibre Channel interlace is configured for FSPF.

D. The Fibre Channel interface is configured for synchronization distribution.

Answer: A

NEW QUESTION 23
Which two methods are available to manage an ACI REST API session authentication when a user is unauthenticated? (Choose two.)

A. POST to aaaUserLogin
B. GET to aaaListDomains
C. GET aaaRefresh

D. DELETE to aaalLogout

E. POST to aaalogin

Answer: CE

NEW QUESTION 25

Refer to the exhibit.

Why does the Python code for Cisco NX-API print an error message?

A. The JSON is not a supported format for the NX-API.

B. The "type" is wrong in the header of the request and should be "“cli_conf"
C. NX-API does not allow configuration for features via the requests module.

D. The "type" is wrong in the body of the request and should be "“cli_conf"

Answer: C

NEW QUESTION 30
Which two components should be checked when a Cisco Nexus 9000 Series Switch fails to boot using POAP? (Choose two.)

A. POAP feature license

B. DHCP server to bootstrap IP information

C. image noted in the script file against switch bootflash
D. script signed with security key

E. TFTP server that contains the configuration script

Answer: BE

NEW QUESTION 34
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An engineer enters these commands while in EEM on a Cisco Nexus 9000 Series Switch
event manager applet Backup-config event timer watchdog time 1800 name timer event cli match "copy running-config startup-config" What is the result of
applying this configuration?

A. It generates an error because no action is mentioned.

B. It executes the copy running-config startup-coring command.
C. It saves the running configuration every 1800 seconds.

D. It blocks the copy running-config startup-config command.

Answer: A

NEW QUESTION 38
An engineer is asked to modify an overridden policy by changing the number of FCNS database entries to 1500 and then generate a message.
What Configuration will accomplish this task?

A. event manager applet fcns_policyevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit
action2.0 policy-default

B. event manager applet fcns_policy override fcns_entries_max_per_switchaction 1.0 syslog priority errors "CNS DB entries have reached the EEM limit" action
2.0 policy-default

C. event manager applet fcns_policy override fcns_entries_max_per_switchevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS
DB entries have reached the EEM limit

D. event manager applet fcns_policy action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit action 2.0 event-default

Answer: C

NEW QUESTION 42
Refer to the exhibit.

An engineer configures a new application profile using REST API and receives this error message. Which method can be used before the application profile can
be configured?

A. GET to aaalListDomains
B. POST to aaaRefresh

C. POST to aaalogin

D. POST to aaalLogout

Answer: C

NEW QUESTION 43
Which feature must be enabled to support the use of JSON and XML encodings when a Cisco Nexus 7000 Series Switch is deployed?

A. Bash shell

B. NX-API

C. Open Agent Container
D. LLDP

Answer: B

NEW QUESTION 44
An engineer must configure RBAC in Cisco UCS Manager in an existing data center environment.
Which two roles can be used to configure LAN connectivity policies? (Choose two.)

A. server-profile
B. network-admin
C. operations

D. enable

E. admin

Answer: BE

NEW QUESTION 48

An engineer is enabling port security on a Cisco MDS 9000 Series Switch.

Which feature of enabling port security on a Cisco MDS 9000 Series Switch must be considered?
A. It can be distributed by using Cisco Fabric Services.

B. It authorizes only the configured SWWN to participate in the fabric.

C. It always learns about switches that are logging in.

D. It binds the fabric at the switch level.

Answer: A

NEW QUESTION 50
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An engineer has a primary fabric that is named UCS-A and a secondary fabric that is named UCS-B. A certificate request that has a subject name of sjc2016 for a
keyring that is named kr2016 needs to be created. The cluster IP address is 10.68.68.68.
Which command set creates this certificate request?

A. UCS-A # scope keyring kr2016UCS-A /keyring # create certreq 10.68.68.68 sjc2016UCS-A /keyring* # commit-buffer

B. UCS-B # scope keyring kr2016UCS-B /keyring # create certreq ip 10.68.68.68 subject-name sjc2016 UCS- B /keyring* # commit-both

C. UCS-B# scope securityUCS-B /security # scope keyring kr2016UCS-B /security/keyring # set certreq 10.68.68.68 sjc2016UCS-B /security/keyring* # commit-
both

D. UCS-A# scope securityUCS-A /security # scope keyring kr2016UCS-A /security/keyring # create certreq ip 10.68.68.68 subject-name sjc2016 UCS- A
/security/keyring* # commit-buffer

Answer: D

NEW QUESTION 53

An engineer is running an ACI fabric, has VMM integration with VMware vCenter, and wants to enable microsegmentation based on vCenter VM attributes. Which
statement about microsegmentation is true?

A. ACI does not support microsegmentation based on vCenter VM attribute

B. You should use network attributes for microsegmentation.

C. When enabled, microsegmentation performs distributed switching and routing on the ESXi hosts.

D. Microsegmentation is supported only using AVE or AVS.

E. An ACI microsegmented EPG automatically creates a port group with a private VLAN configured on a VMware vCenter distributed virtual switch.

Answer: D

NEW QUESTION 55
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